
MATHS

BOOKS - RD SHARMA MATHS (HINGLISH)

CIRCLE

Others

1. Equal chords of a circle subtend equal angles at the centre.

Watch Video Solution

2. Chords of congruent circles which are equidistant from the

corresponding centres, are equal.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_0rF7l84FX6Fm
https://dl.doubtnut.com/l/_sbuJExsRRT6g


3. Equal chords of congruent circles subtend equal angles at the

centre.

Watch Video Solution

4. If the angles subtended by two chords of a circle at the centre are

equal, the chords are equal.

Watch Video Solution

5. Of any two chords of a circle show that one which is larger is

nearer
to the centre.

Watch Video Solution

https://dl.doubtnut.com/l/_sbuJExsRRT6g
https://dl.doubtnut.com/l/_TfmKnRiLFCNw
https://dl.doubtnut.com/l/_FfTik1X6OWk1
https://dl.doubtnut.com/l/_IuX5NhJovc4I


6. If the angles subtended by two chords of congruent circles at the

corresponding centres are equal, the chords are equal.

Watch Video Solution

7. If two equal chords of a circle in intersect within the circle, prove

that :
 the segments of the chord are equal to the corresponding

segments of
 the other chord.
 the line joining the point of

intersection to the centre makes equal
angles with the chords.

Watch Video Solution

8. Of any two chords of a circle show that the one which is nearer to

the
centre is larger.

Watch Video Solution

https://dl.doubtnut.com/l/_FVdkMhpQtfem
https://dl.doubtnut.com/l/_OZplRmPfz1iP
https://dl.doubtnut.com/l/_n4tybnSks1tR
https://dl.doubtnut.com/l/_5BmnrQVRWPfI


9. Chords of a circle which are equidistant from the centre are equal.

Watch Video Solution

10. Equal chords of congruent circles are equidistant from the

corresponding centres.

Watch Video Solution

11. The length of two parallel chords of a circle are 
and 
 If

the smaller chord is at a distance of 
 from the centre, what is

the distance of the other chord from the
centre?

Watch Video Solution

6cm 8cm.

4cm

12. Equal chords of a circle are equidistant from the centre.

h id l i

https://dl.doubtnut.com/l/_5BmnrQVRWPfI
https://dl.doubtnut.com/l/_9nEULD0qLKEy
https://dl.doubtnut.com/l/_BZy7ItyTVWCg
https://dl.doubtnut.com/l/_1prbRY0U3INq


Watch Video Solution

13. Two circle with centres 
and 
intersect at 
and 
Prove that 

Watch Video Solution

A B C D.

∠ACB = ∠ADB.

14. Prove that the line joining the mid-points of two parallel chords

of a
circle passes through the centre.

Watch Video Solution

15. Prove that the right bisector of a chord of a circle, bisects the

corresponding arc or the circle.

Watch Video Solution

https://dl.doubtnut.com/l/_1prbRY0U3INq
https://dl.doubtnut.com/l/_3H07l3PDGeUu
https://dl.doubtnut.com/l/_llmny5lqDCAF
https://dl.doubtnut.com/l/_1SzqvpTT6MhI
https://dl.doubtnut.com/l/_ik0ho97RbI2e


16. Prove that
the perpendicular bisector of a chord of a circle always

passes through the
centre.

Watch Video Solution

17. Prove that the line joining the mid-points of two parallel chords

of a
circle passes through the centre.

Watch Video Solution

18. Two circles of radil 
and 
 intersect at two points and the

distance between their centres is 
 Find the length of the

common chord.

Watch Video Solution

5cm 3cm

4cm.

https://dl.doubtnut.com/l/_ik0ho97RbI2e
https://dl.doubtnut.com/l/_Z9ewbYgANVpT
https://dl.doubtnut.com/l/_K5orS1fnw3XI


19. Two circles are drawn with sides 
 of a triangle 
as

diameters. The circles intersect at a point 
 Prove that 
 lies on

Watch Video Solution

AB, AC ABC

D. D

BC.

20. Two circle intersect in 
 are respectively

the diameters of the circles. Prove that 
are collinear.

Watch Video Solution

AandBandACandAD

C, B,D

21. Any angle subtended by a minor arc in the alternate segment is

acute
 and any angle subtended by a major arc in the alternate

segment is obtuse.

Watch Video Solution

https://dl.doubtnut.com/l/_jW7O7nT8ZVVc
https://dl.doubtnut.com/l/_zyJoEpGUuF0a
https://dl.doubtnut.com/l/_OVuzqKICXFQE
https://dl.doubtnut.com/l/_SBiewo2xsAeZ


22. The arc of a circle subtending a right angle at any point of the

circle
in its alternate segment is a semi-circle.

Watch Video Solution

23. The angle in a semi-circle is a right angle.

Watch Video Solution

24. Angle in the same segment of a circle are equal.

Watch Video Solution

25. Prove that the circle drawn on any one of the equal sides of an

isosceles triangle as diameter bisects the base.

Watch Video Solution

https://dl.doubtnut.com/l/_SBiewo2xsAeZ
https://dl.doubtnut.com/l/_UWu4WTPPqkN3
https://dl.doubtnut.com/l/_bvlLdfGccxVB
https://dl.doubtnut.com/l/_MgzkZPGFq6WF


26. A chord of a circle is equal to the radius of the circle find the

angle
subtended by the chord at a point on the monor arc and also

at a point on the
major arc.

Watch Video Solution

27. Theorem:-7 If the line segment joining two points subtends equal

angles at two other points lying on the same side of the line

segment; the four points are concyclic. i.e lie on the same circle.

Watch Video Solution

28. Draw the graph of the fuction 4x+3y=12,at what pt it cut the

coordinate axis

Watch Video Solution

https://dl.doubtnut.com/l/_MgzkZPGFq6WF
https://dl.doubtnut.com/l/_uwHgx2I1HDrp
https://dl.doubtnut.com/l/_H8ADzDmJZnPE
https://dl.doubtnut.com/l/_hHBkBc5L921n


29. If two equal chords of a circle in intersect within the circle, prove

that:
 the segments of the chord are equal to the corresponding

segments of
 the other chord.
 the line joining the point of

intersection to the centre makes equal
angles with the chords.

Watch Video Solution

30. prove that the line joining the mid-point of two equal chords of a

circle subtends equal angles with the chord.

Watch Video Solution

31. Show that if two chords of a circle bisect one another they must

be
diameters.

Watch Video Solution

https://dl.doubtnut.com/l/_uWa180d8EYBK
https://dl.doubtnut.com/l/_8ZoFFbbmZ96M
https://dl.doubtnut.com/l/_aQkpgMi9WMC9
https://dl.doubtnut.com/l/_7Ma9HBu0WRSP


32. Two equal circles intersect in 
and 
. A straight line through 

meets the circles in 
and 
. Prove that 

Watch Video Solution

P Q P

A B QA = QB.

33. Prove that all the chords of a circle through a given point within

it,
the least is one which is bisected at that point.

Watch Video Solution

34. Prove that the diameter is the greatest chord in a circle.

Watch Video Solution

35. Bisector 
of 
of 
passes through the centre 
of

the circumcircle of 
as shown in figure. Prove that 

h id l i

AD ∠BAC ABC O

ABC AB = AC.

https://dl.doubtnut.com/l/_7Ma9HBu0WRSP
https://dl.doubtnut.com/l/_8lEITWxM4ENs
https://dl.doubtnut.com/l/_1vfzPmbQf7zV
https://dl.doubtnut.com/l/_icJr1uFEZWQx


Watch Video Solution

36. If two sides of a cyclic quadrilateral are parallel, prove that the

remaining two sides are equal and the diagonals are also equal.
OR

A cyclic trapezium is isosceles and its diagonals are equal.

Watch Video Solution

37. The quadrilateral formed by angle bisectors of a cyclic

quadrilateral
is also cyclic.

Watch Video Solution

38. If two non-parallel sides of a trapezium are equal, it is cyclic.
OR

An isosceles trapezium is always cyclic.

Watch Video Solution

https://dl.doubtnut.com/l/_icJr1uFEZWQx
https://dl.doubtnut.com/l/_I4eRKxpobnwr
https://dl.doubtnut.com/l/_0m3DIDGde7LB
https://dl.doubtnut.com/l/_4QU0uNELwlFK


39. If two opposite sides of a cyclic quadrilateral are equal, then the

other two sides are parallel.

Watch Video Solution

40. The sum of either pair of opposite angles of a cyclic quadrilateral

is 
 OR
 The opposite angles of a cyclic quadrilateral are

supplementary.

Watch Video Solution

1800

41. If the chord of a circle is equal to the radius of the circle, then the

angle subtended by the chord at a point on the minor arc is:

Watch Video Solution

https://dl.doubtnut.com/l/_oEAVqRCb5zqF
https://dl.doubtnut.com/l/_mC4cVJGKdBId
https://dl.doubtnut.com/l/_JhPp9CkM8hzV


42. If one side of a cyclic quadrilateral is produced, then the exterior

angle is equal to the interior opposite angle.

Watch Video Solution

43. If the sum of any pair of opposite angles of a quadrilateral is

; then the quadrilateral is cyclic.

Watch Video Solution

180∘

44. The sum of the angles in the four segments exterior to a cyclic

quadrilateral is equal to 
right angles.

Watch Video Solution

6

https://dl.doubtnut.com/l/_le5Chq9mv1T3
https://dl.doubtnut.com/l/_QxaZNEmxNaFb
https://dl.doubtnut.com/l/_cKxQ2kdao4Ld


45. If the bisectors of the opposite angles 
 of a cyclic

quadrilateral 
 intersect the corresponding cicle at 

respectively, then 
is a diameter of the circle.

Watch Video Solution

∠Pand∠R

PQRS AandB

AB

46. If 
 is the circumcentre of a 
 and 
 prove that 

Watch Video Solution

O ABC OD ⊥ BC,

∠BOD = ∠A.

47. Two diameters of a circle intersect each other at right angles.

Prove that
 the quadrilateral formed by joining their end-points is a

square.

Watch Video Solution

https://dl.doubtnut.com/l/_QhFahgmjNEzz
https://dl.doubtnut.com/l/_cEajDeJUPri2
https://dl.doubtnut.com/l/_Gl0KR8p4gCL8
https://dl.doubtnut.com/l/_9wRvCWHixXKc


48. 
 and 
 are two right triangles with common

hypotenuse 
Prove that 

Watch Video Solution

ABC ADC

AC. ∠CAD = ∠CBD.

49. In a circle with centre 
chords 
intersect inside the

circumference at 
Prove that 

Watch Video Solution

O, ABandCD

E. ∠AOC + ∠BOD = 2∠AEC.

50.  AND 
 are two right triangles with common

hypotenuse 
Prove that 

Watch Video Solution

△ ABC △ ADC

AC. ∠CAD = ∠CBD.

https://dl.doubtnut.com/l/_9wRvCWHixXKc
https://dl.doubtnut.com/l/_r29PWjXGBPkh
https://dl.doubtnut.com/l/_5xibtCMiavXS


51. Bisectors of
 angles A, B and C of a triangle ABC intersect its

circumcircle at D, E and
 F
 respectively. Prove that the angles of the

triangle DEF are 
, 
and 

Watch Video Solution

90o − A
1

2
90o − B

1

2
90o − C

1

2

52. Prove that the circle drawn with any side of a rhombus as a

diameter,
posses through the point of intersection of its diagonals.

Watch Video Solution

53. Two chords 
and 
of a circle are parallel and a line 
 is the

perpendicular bisector of 
. Show that 
bisects 

Watch Video Solution

AB CD l

AB l CD.

https://dl.doubtnut.com/l/_U7OpLjSKtxBM
https://dl.doubtnut.com/l/_tJpQx28KGDjD
https://dl.doubtnut.com/l/_uFj9PxdlGnG8


54. In the Figure, 
 is perpendicular to the chord 
 of a circle

whose centre is 
If 
is a diameter, show that 

Watch Video Solution

OD AB

O. BC CA = 2OD

55. 
 and 
 are two parallel chords of a circle such that 


 and 
 If the chords are on the opposite

sides of the centre and the distance
between them is 
find the

radius of the circle.

Watch Video Solution

AB CD

AB = 10cm CD = 24cm.

17cm,

56. 
and 
are two parallel chords of a circle whose centre is 

and radius is 
 If 
 and 
 find the

distance between 
 and 
 if they lie:
 on the same side of the

centre 
on opposite side of the centre 

W h Vid S l i

PQ RS O

10cm. PQ = 16cm RS = 12cm,

PQ RS,

O. O.

https://dl.doubtnut.com/l/_laPS3GGz04Wt
https://dl.doubtnut.com/l/_qESV3K0sDLY6
https://dl.doubtnut.com/l/_FvitLlYHDgZY


Watch Video Solution

57. 
and 
are two parallel chords of a circle whose diameter is 


. Prove that 

Watch Video Solution

AB CD

AC AB = CD.

58. If a diameter of a circle bisects each of the two chords of a circle,

prove that the chords are parallel.

Watch Video Solution

59. Prove that
 the angle in a segment greater than a semi-circle is

less than a right angle.

Watch Video Solution

https://dl.doubtnut.com/l/_FvitLlYHDgZY
https://dl.doubtnut.com/l/_FU848IaznucL
https://dl.doubtnut.com/l/_MYMDB5iyzyG8
https://dl.doubtnut.com/l/_003zzm6wf3dI
https://dl.doubtnut.com/l/_Y5ylmb3HaSor


60. Prove that
 the angle in a segment greater than a semi-circle is

less than a right angle.

Watch Video Solution

61. 
 is a parallelogram. 
 is produced to 
 so that 


. Prove that 
bisects 

Watch Video Solution

ABCD AB E

BE = AB ED BC.

62. In any triangle ABC, if the angle bisector of and perpendicular

bisector of BCintersect, prove that they intersect on the circumcircle

of the triangle ABC

Watch Video Solution

∠A

https://dl.doubtnut.com/l/_Y5ylmb3HaSor
https://dl.doubtnut.com/l/_0s0W51neev9h
https://dl.doubtnut.com/l/_OacJ8Humdums


63. 
 is a cyclic quadrilateral whose diagonals 

intersect at 
 . If 
 Prove that :





Watch Video Solution

ABCD ACandBD

P AB = DC, PAB ≅PDC

PA = PDandPC = PB ADBC

64. (Converse of Theorem 3) The line joining the centre of a circle to

the
mid-point of a chord is perpendicular to the chord.

Watch Video Solution

65. .The equation of the circle passing through three non-collinear

points P( ) Q( ) and R( ) is

Watch Video Solution

x1, y1 x2, y2 x3, y3

https://dl.doubtnut.com/l/_P8Qbcsl9XJm5
https://dl.doubtnut.com/l/_NGzmrqfEKJzd
https://dl.doubtnut.com/l/_QnSKWIzczgxQ


66. Two chords 
 and 
 of a circle are equal. Prove that the

centre of the circle lies on the
angle bisector of 

Watch Video Solution

AB AC

∠BAC.

67. If two chords 
and 
of a circle with centre 
are such that

the centre 
lies on the bisector of 
prove that 
 ,

i.e. the chords are equal.

Watch Video Solution

AB AC O

O ∠BAC, AB = AC

68. If two arcs of a circle (or of congruent circles) are congruent,

then
corresponding chords are equal.

Watch Video Solution

https://dl.doubtnut.com/l/_BDR4YCogY45T
https://dl.doubtnut.com/l/_HW98g8MCNWzf
https://dl.doubtnut.com/l/_sC1DtU3rQF6t


69. If two chord of a circle (or of congruent circles) are equal, then

their corresponding arcs. (minor, major or semi-circular) are

congruent.

Watch Video Solution

70. The perpendicular from the centre of a circle to a chord bisects

the
chord.

Watch Video Solution

71. If two circles intersect in two points, prove that the line through

the
centres is the perpendicular bisector of the common chord.

Watch Video Solution

https://dl.doubtnut.com/l/_LRZsuJXFjZ9W
https://dl.doubtnut.com/l/_KDIT6UBbfA1x
https://dl.doubtnut.com/l/_rvyeb28fxjXc


72. Find the length of the chord which is at 12 cm distance from

center and radius of circle is 13cm.

Watch Video Solution

73. In an isosceles triangle 
 with 
 a circle passing

through 
 and 
 intersects the sides 
 at

respectively. Prove that 

Watch Video Solution

ABC AB = AC,

B C ABandAC DandE

DECB.

74. 
 is an isosceles triangle in which 
 If 
are

the mid-points of 
 respectively, prove that the points 


are concylic.

Watch Video Solution

ABC AB = AC. DandE

ABandAC

B, C,DandE

https://dl.doubtnut.com/l/_UvFTWDi3KBnL
https://dl.doubtnut.com/l/_iY0ySOUpbmoV
https://dl.doubtnut.com/l/_rCLqEeHfyfmb
https://dl.doubtnut.com/l/_mLXpW3wfCrjf


75. 
 are points on equal sides 
 of an isosceles

triangle 
 such that 
 . Prove that 
 are

concylic.

Watch Video Solution

DandE ABandAC

ABC AD = AE B, C,D, E

76. 
are,
respectively, the points on equal sides 

of an
 isosceles triangle 
 such that 
 are

concyclic as shown in Figure. If 
 is the point
 of intersection of


prove that 
is the
bisector of line segment 

Watch Video Solution

D and E AB and AC

ABC B,  C,  E,  and D

O

CD and BE, AO DE

77. 
 is a cyclic quadrilateral. 
 are produced to

meet in 
Prove that 

Watch Video Solution

ABCD ABandDC

E. EBC − EDA.

https://dl.doubtnut.com/l/_mLXpW3wfCrjf
https://dl.doubtnut.com/l/_Gx4pXyTu5HWf
https://dl.doubtnut.com/l/_bZgnay2DQ4Fr


78. In Figure, 
 is a cyclic quadrilateral. Find the measure of

each of its angles.

Watch Video Solution

PQRS

79. Prove that any cyclic parallelogram is a rectangle.

Watch Video Solution

80. 
are chords of a circle which bisect each other. Prove

that (i) 
are diameters (ii) 
is a rectangle.

Watch Video Solution

ACandBD

ACandBD ABCD

81. 
 is a parallelogram. The circle through 

intersects 
produced at 
prove that 

ABCD A, B and C

CD E, AE = AD.

https://dl.doubtnut.com/l/_Ivzwer7xQZrb
https://dl.doubtnut.com/l/_LQixJ6Qoi6Uk
https://dl.doubtnut.com/l/_CGlDw7pNZxXp
https://dl.doubtnut.com/l/_6DLx3WT2CDQj


Watch Video Solution

82. Fill in the
blanks:
All point
 lying inside/outside a circle are called

... points/
 ... points.
Circle
 having the same centre and different radii

are called ... circles.
 A point
 whose distance from the centre of a

circle is greater than its radius lies in .... of the circle.
 A
 continuous

piece of a circle is .... of the circle.
 The longest
 chord of a circle is a

......of the circle.
 An arc is a
 ......... when its ends are the ends of a

diameter.
Segment of
 a circle is the region between an arc and ... of

the circle.
A circle
divides the plane, on which it lies, in .... parts.

Watch Video Solution

83. Write the
truth value (T/F) of the following with suitable reasons:

A circle is
 a plane figure.
 Line
 segment joining the centre to any

point on the circle is a radius of the
 circle.
 If a circle
 is divided into

three equal arcs each is a major arc.
A circle
 has only finite number

https://dl.doubtnut.com/l/_6DLx3WT2CDQj
https://dl.doubtnut.com/l/_tEdOJHHMPCXk
https://dl.doubtnut.com/l/_S7z9QkJ3sUFA


of equal chords.
 A chord of
 a circle, which is twice as long is its

radius is a
 diameter of the circle.
 Sector is
 the region between the

chord and its corresponding arc.
The degree
measure of an arc is the

complement of the central angle containing the arc.
 The degree

measure of a semi-circle is 

Watch Video Solution

1800

84. The radius
of a circle is 13 cm and the length of one of its chords

is 10 cm. Find the
distance of the chord from the centre.

Watch Video Solution

85. Find the
length of a chord which is at a distance of 5 cm from the

centre of a circle
of radius 13 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_S7z9QkJ3sUFA
https://dl.doubtnut.com/l/_a3fFqQaUTpaA
https://dl.doubtnut.com/l/_JrqErPmxOoaQ
https://dl.doubtnut.com/l/_9UMWJMZyd6hA


86. In Figure, 
 is the
 centre of the circle of radius

Determine 

Watch Video Solution

O

5 cm
.
OP   ⊥ AB,  OQ  ⊥ CD,  ABCD,  AB = 6 cm and CD = 8 cm.

PQ.

87. In Figure, 
 is the
 centre of the circle of radius

Determine 

Watch Video Solution

O

5 cm
.
OP ⊥ AB,  OQ ⊥ CD,  ABCD,  AB = 6 cm and CD = 8 cm.

PQ

88. 
are two
parallel chords of a circle whose centre is 

and radius
 is 
 If 
 find the

distance between 
 if they
 lie:
 on the same
 side of

centre 

Watch Video Solution

PQ and RS O

10 cm. PQ = 16 cm and RS = 12 cm,

PQ and RS,

O

https://dl.doubtnut.com/l/_9UMWJMZyd6hA
https://dl.doubtnut.com/l/_6QgfAchDJtQl
https://dl.doubtnut.com/l/_YVTI3zrMgsio


Watch Video Solution

89. 
are two
parallel chords of a circle whose centre is 

and radius
 is 
 If 
 find the

distance between 
 if they
 lie:
 on opposite
 side of the

centre 

Watch Video Solution

PQ and RS O

10 cm. PQ = 16 cm and RS = 12 cm,

PQ and RS,

O

90. 
 are two
 parallel chords of a circle such that 


 If the
 chords are on the opposite

sides of the centre and the distance between them
 is 
 find

the radius of the circle.

Watch Video Solution

AB and CD

AB = 10 cm and CD = 24 cm.

17 cm,

https://dl.doubtnut.com/l/_YVTI3zrMgsio
https://dl.doubtnut.com/l/_gQUOZG6B6Czc
https://dl.doubtnut.com/l/_JuvNn94uXmLF


91. 
 are two
 chords of a circle such that 


 If the
 distance between 


is 
find the radius of the circle.

Watch Video Solution

AB and CD

AB = 6 cm,  CD = 12 cm and ABCD.

AB and CD 3 cm,

92. In the
 figure, 
 is
 perpendicular to the chord 
 of a circle

whose centre is 
If 
is a
diameter, show that 

Watch Video Solution

OD AB

O. BC CA = 2OD.

93. In Figure, 
is a line
intersecting the two concentric circles, whose

common centre is 
 at the
 points 
 . Show that

Watch Video Solution

l

O, A,  B,  C and D

AB = CD.

https://dl.doubtnut.com/l/_eNsAFuiFKxxZ
https://dl.doubtnut.com/l/_ktg3P7PPysvU
https://dl.doubtnut.com/l/_BV7U4LxTmdcy
https://dl.doubtnut.com/l/_qpWjA573GwVQ


94. In a circle
of radius 
are two
chords such that 


Find the
length of the chord 

Watch Video Solution

5 cm,  AB and AC

AB = AC = 6cm. BC

95. In an
 equilateral triangle, prove that the centroid and centre of

the circum-circle
 (circum centre) coincide)
 Given : An
 equilateral

triangle 
 in which 
 are the
 mid-points of sides 


 respectively.
 To Prove:
 The centroid and circum

centre are coincident.
 Construction
 : Draw medians

Watch Video Solution

ABC D,  E and F

BC,  CA and AB

AD,  BE and CF

96. A circular park of radius 
 is situated in a colony. Three boys

Ankur, Syed and David are sitting
at equal distance on its boundary

20m

https://dl.doubtnut.com/l/_qpWjA573GwVQ
https://dl.doubtnut.com/l/_i5MNvBo8AkEj
https://dl.doubtnut.com/l/_fbWPNTWg3w3f


each having a toy telephone in his hands to
talk to each other. Find

the length of the string of each phone.

Watch Video Solution

97. Two chords 
of a circle
are parallel and a line 
 is the

perpendicular bisector of 
Show that 
bisects 

Watch Video Solution

AB and CD l

AB. l CD

98. If a
diameter of a circle bisects each of the two chords of a circle,

prove that
the chords are parallel.

Watch Video Solution

99. 
are two
parallel chords of a circle whose diameter is


. Prove
that 

AB and CD

AC AB = CD

https://dl.doubtnut.com/l/_fbWPNTWg3w3f
https://dl.doubtnut.com/l/_7RwcjSyoX1sR
https://dl.doubtnut.com/l/_R6gPg0kBFqZW
https://dl.doubtnut.com/l/_7Pl073uZlIOv


Watch Video Solution

100. Two
 concentric circle with centre 
 have 
 as the

points of intersection with the line 
 as shown in Figure. If


 find the
 lengths of 

Watch Video Solution

O A,  B,  C,  D

l

AD = 12cm and BC = 8cm,

AB,  CD,  AC and BD

101. Two circles
whose centres are 
and 
intersect
at 
Through 


 a line 
 parallel to
 
 intersecting
 the circles at 
 is

drawn. Prove that 

Watch Video Solution

O O' P .

P , l OO' C and D

CD = 2 OO'

https://dl.doubtnut.com/l/_7Pl073uZlIOv
https://dl.doubtnut.com/l/_JXbQ3760rBGw
https://dl.doubtnut.com/l/_Hmoie28bPAMQ


102. Prove that the line joining the mid-points of two parallel chords

of a
circle passes through the centre.

Watch Video Solution

103. Two circles
of radii 
 intersect
and the length of

the common chord is 
Find the
distance between their centres.

Watch Video Solution

10 cm and 8 cm

12cm.

104. Two circles
 of radii 
 intersect
 at two points and

the distance between their centres is 
 Find the
 length of the

common chord.

Let the common chord be  and  be the centers of the

two circles.




5 cm and 3cm

4cm.

AB P and  Q

AP = 5cm and  AQ = 3cm.

https://dl.doubtnut.com/l/_11hZApMzrbC8
https://dl.doubtnut.com/l/_hhFgAy1EeyTI
https://dl.doubtnut.com/l/_UXk27qtzcDOl


 ...given


Now, seg 


....perpendicular from center to the chord,

bisects the chord

Let 


so 


In 


...(1)


In 


...(2)


...from (1) & (2)











 substituting in equation(1) we get , 








So length of common chord is6 cm.

PQ = 4cm

PQ ⊥ ch or dAB

AR = RB = AB
1

2

PR = xcm

RQ = (4 − x)cm

△ ARP , AP 2 = AR2 + PR2

AR2 = 52 − x2

△ ARQ, AQ2 = AR2 + QR2

AR2 = 32 − (4 − x)2

52 − x2 = 32 − (4 − x)2

25 − x2 = 9 − (16 − 8x + x2)

25 − x2 = − 7 + 8x − x2

32 = 8x

x = 4 AR2 = 25 − 16 = 9

AR = 3cm

AB = 2 × AR = 2 × 3 = 6

AB = 6cm

https://dl.doubtnut.com/l/_UXk27qtzcDOl


Watch Video Solution

105. In Figure,
 two circles with centres 
 and of
 radii 


 touch each other internally. If the perpendicular

bisector of segment 
 meets the
 bigger circle in 
 , find

the
length of 


 are the centres of the circles with radii 5cm and 3cm

respectively.

 is the mid-point of AB.


Extend  upto  point on circumference of outer circle.

 (since AO and BO are radii of

larger and smaller circles)




now in right angled triangle AMP, 


by pythagoras therom , 








A and B

5 cm and 3 cm

AB P  and Q

PQ

A and  B

C

AB O

AB = AO − BO = 5 − 3 = 2cm

AC = A = = 1cm
B

2

2

2

AC = 1cm, AP = 5cm

AP 2 = PC 2 + AC 2

PC 2 = √AP 2 − AC 2

PC 2 = √52 − 12

https://dl.doubtnut.com/l/_UXk27qtzcDOl
https://dl.doubtnut.com/l/_83huRavW2zGZ


Therefore, 


Watch Video Solution

PQ = 2PC = 2√24

= 4√6cm(CP = CQ)

106. In Figure, 
 and 
 is the centre of the circle. Prove

that 
is the perpendicular
bisector of 

Watch Video Solution

ÂB ≅ ÂC O

OA BC

107. Prove that
 the right bisector of a chord of a circle, bisects
 the

corresponding arc or the circle.

Watch Video Solution

108. Prove that
 the perpendicular bisector of a chord of a circle

always passes through the
centre.

https://dl.doubtnut.com/l/_83huRavW2zGZ
https://dl.doubtnut.com/l/_mU3Knurs2F1O
https://dl.doubtnut.com/l/_hFyfAnQIPohc
https://dl.doubtnut.com/l/_uJhSuUZJapeD


Watch Video Solution

109. In Figure, 
 is the centre of the circle. Prove

that 
bisects 

Watch Video Solution

AB = CB and O

BO ∠ABC.

110. Two circle with centres 
and 
intersect at 
and 
Prove that

Watch Video Solution

A B C D.

∠ACB = ∠ADB.

111. Prove that
the line of centres of two interesting circles subtends

equal angles at the
two points of intersection.

Watch Video Solution

https://dl.doubtnut.com/l/_uJhSuUZJapeD
https://dl.doubtnut.com/l/_LwNyt6474nYt
https://dl.doubtnut.com/l/_GKx7oMecH9Kn
https://dl.doubtnut.com/l/_GjCFuFcxhC0b
https://dl.doubtnut.com/l/_akUaHXFl6hRe


112. The radius
of a circle is 8cm and the length of one of its chords

is 12cm. Find the
distance of the chord from the centre.

Watch Video Solution

113. Find the
 length of a chord which is at a distance of 5 cm from

the centre of a circle
of radius 10 cm.

Watch Video Solution

114. Find the
 length of a chord which is at a distance of 4 cm from

the centre of the
circle of radius 6 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_akUaHXFl6hRe
https://dl.doubtnut.com/l/_Offkn6Oj0iTa
https://dl.doubtnut.com/l/_OK3sfx0LHLM3


115. Two chords AB
and CD of lengths 5 cm and 11 cm respectively of

a circle are parallel to
 each other and are on opposite sides of its

centre. If the distance between
AB and CD is 6 cm, find the radius of

the circle.

Watch Video Solution

116. Suppose
 you are given a circle. Give a construction to find its

centre.

Watch Video Solution

117. Prove that
the line joining the mid-point of a chord to the centre

of the circle passes
 through the mid-point of the corresponding

minor arc.

Watch Video Solution

https://dl.doubtnut.com/l/_elT12ei0Ch2c
https://dl.doubtnut.com/l/_Fx7zoBfNAwYe
https://dl.doubtnut.com/l/_AXBgsQa2sopx


118. Prove that
 a diameter of a circle which bisects a chord of the

circle also bisects the
angle subtended by the chord at the centre of

the circle.

Watch Video Solution

119. Prove that
 two different circles cannot intersect each other at

more than two points.

Watch Video Solution

120. A line segment
 
 is of
 length 5 cm. Draw a circle of radius 4

cm passing through 
 Give reason
 in support of your

answer.

Watch Video Solution

AB

A and B?

https://dl.doubtnut.com/l/_AXBgsQa2sopx
https://dl.doubtnut.com/l/_pQIpk2jPo5UJ
https://dl.doubtnut.com/l/_608T0pVpUrYs
https://dl.doubtnut.com/l/_oZVtoC0Q2VEa


121. An
equilateral triangle of side 9 cm is inscribed in a circle. Find

the radius
of the circle.

Watch Video Solution

122. Given an
arc of a circle, complete the circle.

Watch Video Solution

123. Draw
different pairs of circles. How many points does each pair

have in common?
What is the maximum number of common points?

Watch Video Solution

124. Suppose
 you are given a circle. Give a construction to find its

centre.

https://dl.doubtnut.com/l/_gDSJF90KWlr1
https://dl.doubtnut.com/l/_hXBcDQjwE2cs
https://dl.doubtnut.com/l/_r7xRLc7168X0
https://dl.doubtnut.com/l/_l2BGfEoKGBcj


Watch Video Solution

125. Two chords AB
and CD of lengths 5 cm and 11 cm respectively of

a circle are parallel to
 each other and are on opposite sides of its

centre. If the distance between
AB and CD is 6 cm, find the radius of

the circle.

Watch Video Solution

126. The lengths
of two parallel chords of a circle are 6 cm and 8 cm.

If the smaller chord is
at a distance of 4 cm from the centre, what is

the distance of the other
chord from the centre?

Watch Video Solution

https://dl.doubtnut.com/l/_l2BGfEoKGBcj
https://dl.doubtnut.com/l/_d22kgifNj4uN
https://dl.doubtnut.com/l/_7J5p54qRofHw


127. If two chords
 of a circle are equally inclined to the diameter

through their point of
intersection, prove that the chords are equal.

Watch Video Solution

128. If two equal chords of a circle in intersect within the circle, prove

that:
 the segments of the chord are equal to the corresponding

segments of
 the other chord.
 the line joining the point of

intersection to the centre makes equal
angles with the chords.

Watch Video Solution

129. If two equal chords of a circle in intersect within the circle, prove

that:
 the segments of the chord are equal to the corresponding

segments of
 the other chord.
 the line joining the point of

intersection to the centre makes equal
angles with the chords.

W h Vid S l i

https://dl.doubtnut.com/l/_cKjdtCjrQzBX
https://dl.doubtnut.com/l/_oEnMFlxw80os
https://dl.doubtnut.com/l/_3EK97pUI1bbk


Watch Video Solution

130. prove that the line joining the mid-point of two equal chords of

a
circle subtends equal angles with the chord.

Watch Video Solution

131. 
 are mid-point
 of two equal chords 
 of a

circle
 with centre 
 . Prove
 that
 
 (ii) 

Watch Video Solution

L and M AB and CD

O ∠OLM =  ∠OML

∠ALM =  ∠CML

132. PQ  and  RQ
 are chords of a circle equidistant from the centre.

Prove that the
diameter passing through Q
bisects ∠PQR and ∠PSR

Watch Video Solution

https://dl.doubtnut.com/l/_3EK97pUI1bbk
https://dl.doubtnut.com/l/_We0GRJMlIlTC
https://dl.doubtnut.com/l/_OXbag0kn30F2
https://dl.doubtnut.com/l/_faYQWUEZZhkg


133. 
 are four
 consecutive points on a circle such that 


Prove that 

Watch Video Solution

A,  B,  C,  D

AB = CD. AC = BD

134. Show that if two chords of a circle bisect one another they must

be
diameters.

Watch Video Solution

135. Two equal circles intersect in 
and 
 . A straight line through 


meets the circles in 
and 
. Prove that 

Watch Video Solution

P Q

P A B QA = QB.

https://dl.doubtnut.com/l/_UMys6u2GTeBS
https://dl.doubtnut.com/l/_MpnQqOxgBqS5
https://dl.doubtnut.com/l/_Lo7GdvlnIKbX


136. Prove that all the chords of a circle through a given point within

it,
the least is one which is bisected at that point.

Watch Video Solution

137. Prove that the diameter is the greatest chord in a circle.

Watch Video Solution

138. Three girls
 Reshma, Salma and Mandip are playing a game by

standing on a circle of radius
5m drawn in a park. Reshma throws a

ball to Salma, Salma to Mandip, Mandip to
 Reshma. If the distance

between Reshma and Salma and between Salma and Mandip
 is 6m

each, what is the distance between Reshma and Mandip?

Watch Video Solution

https://dl.doubtnut.com/l/_20ljmICStqrm
https://dl.doubtnut.com/l/_IL5lQu4pvKgA
https://dl.doubtnut.com/l/_YSUBhrscPjyz
https://dl.doubtnut.com/l/_SUvvUEEcX9vc


139. A circular
park of radius 20m is situated in a colony. Three boys

Ankur, Syed and
David are
sitting at equal distance on its boundary

each having a toy telephone in
his
hands to talk each other. Find the

length of the string of each phone.

Watch Video Solution

140. 
 are three
 points on a circle such that the angles

subtended by the chords  and 
at the
centre 
are a n d 

, respectively. Determine 

Watch Video Solution

A, B and C

AB AC O 90∘

110∘ ∠BAC

141. A chord of a circle is equal to the radius of the circle find the

angle
subtended by the chord at a point on the monor arc and also

at a point on the
major arc.

Watch Video Solution

https://dl.doubtnut.com/l/_SUvvUEEcX9vc
https://dl.doubtnut.com/l/_cZaLekDl42h0
https://dl.doubtnut.com/l/_2O5Hizjd2a8d


142. BC
 is a chord
 with centre O.
 A is a
 point on an arc BC
 . Prove

that:
 
,
 if A 
is the point on the major arc.

Watch Video Solution

∠BAC + ∠OBC = 90

143. BC
is a chord
with centre O.
A is a
point on an arc BC
. Prove that:


,
if A
is the
point on the minor arc

Watch Video Solution

∠BAC − ∠OBC = 90∘

144. Prove that
the circle drawn on any one of the equal sides of an

isosceles triangle as
 diameter bisects the base.
 Given: A 
 in

which 
 and a
 circle is drawn by taking 
 as diameter

which intersects the side 
of triangle
at 
To Prove: 

Construction
: Join 

ABC

AB = AC AB

BC D BD = DC

AD

https://dl.doubtnut.com/l/_2O5Hizjd2a8d
https://dl.doubtnut.com/l/_1CMuemeyR64l
https://dl.doubtnut.com/l/_wCVD1dPQP9Bi
https://dl.doubtnut.com/l/_1z2D7GgU50Vg


Watch Video Solution

145. Two circle intersect in 
 are respectively

the diameters of the circles. Prove that 
are collinear.

Watch Video Solution

AandBandACandAD

C, B,D

146. Two circles are drawn with sides 
of a triangle 
as

diameters. The circles intersect at a point 
 Prove that 
 lies on

Watch Video Solution

AB, AC ABC

D. D

BC.

147. 
 and 
 are two right triangles with common

hypotenuse 
Prove that 

Watch Video Solution

ABC ADC

AC. ∠CAD = ∠CBD.

https://dl.doubtnut.com/l/_1z2D7GgU50Vg
https://dl.doubtnut.com/l/_E1XCtclc5Mfb
https://dl.doubtnut.com/l/_Hbnxzuy9LrnH
https://dl.doubtnut.com/l/_vc1oOIDDLPGc


148. In a circle
 with centre 
 chords 
 intersect
 inside

the circumference at 
Prove that 

Watch Video Solution

O, AB and CD

E. ∠AOC +  ∠BOD = 2 ∠AEC

149. C
 is a point
 on the minor arc AB
 of the
 circle, with centre O.

Given 
and
Calculate x,
 if ACBO
is a parallelogram.

Watch Video Solution

∠ACB = x0

150. If 
 is the circumcentre of a 
and 
 prove that 

Watch Video Solution

O ABC OD ⊥ BC,

∠BOD = ∠A.

https://dl.doubtnut.com/l/_d4Rzt9iu6HNM
https://dl.doubtnut.com/l/_jsAn5uSh4xCm
https://dl.doubtnut.com/l/_55LWqodFI95q


151. Two diameters of a circle intersect each other at right angles.

Prove that
 the quadrilateral formed by joining their end-points is a

square.

Watch Video Solution

152. Prove that the circle drawn with any side of a rhombus as a

diameter,
posses through the point of intersection of its diagonals.

Watch Video Solution

153. 
 are chords of a circle that bisect each other. Prove

that:
 
are diameters
  is a rectangle .

Watch Video Solution

ACandBD

ACandBD ABCD

https://dl.doubtnut.com/l/_GxWLDLvzEz24
https://dl.doubtnut.com/l/_1cu31RRI5mzV
https://dl.doubtnut.com/l/_LdpTRo7i2aqg


154. 
 are chords of a circle that bisect each other. Prove

that:
 
are diameters
ABCD is a rectangle.

Watch Video Solution

ACandBD

ACandBD

155. 
 and 
 are two right triangles with common

hypotenuse 
Prove that 

Watch Video Solution

ABC ADC

AC. ∠CAD = ∠CBD.

156. 
 is a point
 on the circumcircle of 
 in which 

such that 
 are on the
 opposite side of line 
 If 
 is

produced
to a point 
such that 
prove that 

Watch Video Solution

D ABC AB = AC

B and D AC. CD

E CE = BD, AD = AE

https://dl.doubtnut.com/l/_di95zcoyebme
https://dl.doubtnut.com/l/_2nMB1e7xlIOD
https://dl.doubtnut.com/l/_2OPIPoCVjL1l


157. The
 bisector of 
 of an
 isosceles triangle 
 with 


meets the
circumcircle of 
at 
as shown in Figure.

If 
produced
meet at .
prove that 

Watch Video Solution

∠B ABC

AB = AC ABC P

AP  and BC Q, CQ = CA

158. Bisectors of angles A, B and C of a triangle ABC intersect its

circumcircle at D, E andF respectively. Prove that the angles of the

triangle DEF are , and 

Watch Video Solution

90∘ − A
1

2
90∘ − B

1

2
90∘ − C

1

2

159. Prove that the mid-point of the hypotenuse of a right triangle is

equidistant from its vertices.

Watch Video Solution

https://dl.doubtnut.com/l/_HfVEQJVfTN4J
https://dl.doubtnut.com/l/_Gx4FYcUc3v4G
https://dl.doubtnut.com/l/_TAXfefzkPOE4
https://dl.doubtnut.com/l/_1jSI5QIVpk5X


160. 
 is a
 diameter of a circle with centre 
 and radius 
 is

perpendicular to 
 If 
 is any
 point on arc 
 find 

Watch Video Solution

AB O OD

AB. C DB,

∠BAD and ∠ACD

161. If 
 is the circumcentre of a 
 and 
 prove that 

Watch Video Solution

O ABC OD ⊥ BC,

∠BOD = ∠A.

162. A chord of
 a circle is equal to the radius of the circle. Find the

angle subtended by
the chord at a point on the minor arc and also

at a point on the major arc.

Watch Video Solution

https://dl.doubtnut.com/l/_1jSI5QIVpk5X
https://dl.doubtnut.com/l/_nCvsRJzAmOO5
https://dl.doubtnut.com/l/_KKmzcyrph0YG
https://dl.doubtnut.com/l/_g4WZVn8U42WU


163. Prove that
any cyclic parallelogram is a rectangle.

Watch Video Solution

164. If diagonals
 of a cyclic quadrilateral are diameters of the circle

through the vertices of
the quadrilateral, prove that it is a rectangle.

Watch Video Solution

165. Two circles
 intersect at two points B and C. Through B, two line

segments ABD and PBQ are
drawn to intersect the circles at A, D and

P, Q respectively (see Fig.
10.40). Prove that 
.

Watch Video Solution

∠ACP = ∠QCD

166. 
 are chords of a circle which bisect each other.

Prove that (i) 
are diameters (ii)
 
is a
rectangle

AC and BD

AC and BD ABCD

https://dl.doubtnut.com/l/_g4WZVn8U42WU
https://dl.doubtnut.com/l/_QgxbLQJsDZpN
https://dl.doubtnut.com/l/_Nj6xDlDdE7Of
https://dl.doubtnut.com/l/_Rvf7Pz02ZBWS


Watch Video Solution

167. 
 is a parallelogram. The circle through 

intersects 
produced at 
prove that 

Watch Video Solution

ABCD A, BandC

CD E, AE = AD.

168. 
 is an
 isosceles triangle in which 
 If 

are the
 mid-points of 
 respectively,
 prove that the

points 
are concyclic.

Watch Video Solution

ABC AB = AC. D and E

AB and AC

B,  C,  D and E

169. 
are points
on equal sides 
of an
 isosceles

triangle 
 such that 
 Prove that 
 are

concyclic.

D and E AB and AC

ABC AD = AE. B,  C,  D,  E

https://dl.doubtnut.com/l/_Rvf7Pz02ZBWS
https://dl.doubtnut.com/l/_lH0wdcLvjagG
https://dl.doubtnut.com/l/_x6NAMVh5FgcO
https://dl.doubtnut.com/l/_dv1OeoUIeD5b


Watch Video Solution

170. 
 are,
 respectively, the points on equal sides 


 of an
 isosceles triangle 
 such that 


are concyclic as shown in Figure. If 
 is the point

of intersection of 
 prove that 
 is the
 bisector of

line segment 

Watch Video Solution

D and E

AB and AC ABC

B,  C,  E,  and D O

CD and BE, AO

DE

171. 
 is a cyclic quadrilateral. 
 are produced to

meet in 
Prove that 

Watch Video Solution

ABCD ABandDC

E. EBC ≅EDA.

172. In an
 isosceles triangle 
 with 
 a circle
 passing

through 
 intersects
 the sides 
 at 

ABC AB = AC,

B and C AB and AC D and E

https://dl.doubtnut.com/l/_dv1OeoUIeD5b
https://dl.doubtnut.com/l/_zvIjIoSTr6Dk
https://dl.doubtnut.com/l/_M1RZS2JO3m8x
https://dl.doubtnut.com/l/_LNS2LqAi034Z


respectively. Prove that 

Watch Video Solution

DEBC

173. 
 are two
 parallel chords of a circle and lines 


 intersect
 each other at 
 as shown in Figure. Prove

that 

Watch Video Solution

PQ and RS

RP  and SQ O

OP = OQ

174. 
 is a cyclic
 quadrilateral whose diagonals 

intersect
at 
If 
prove that:


(i) 


(ii) 
(iii) 

Watch Video Solution

ABCD AC and BD

P . AB = DC,

PAB  ≅PDC

PA = PD and PC = PB AD ∣ ∣ BC

https://dl.doubtnut.com/l/_LNS2LqAi034Z
https://dl.doubtnut.com/l/_mcfItcTQHEdC
https://dl.doubtnut.com/l/_yy0NdNe8uFdj


175. 
 is a point
 on the side 
 of a
 triangle 
 such that 


 Through 
 lines are
 drawn parallel to 


 respectively,
 so as to intersect at 
 as shown in

Figure. Show that 
is a cyclic quadrilateral.
`

Watch Video Solution

P BC ABC

AB = AP . A and C,

BC and PA, D

ABCD

176. 
is a
triangle in which 
is a point
on 
 .

Through 
a line is
drawn to intersect 
produced at
 
such that 


Prove that:


Watch Video Solution

ABC AB = AC and P AC

C BP Q

∠ABQ =  ∠ACQ. ∠AQC = 900 + ∠BAC
1

2

177. In any triangle ABC, if the angle bisector of and

perpendicular bisector of BCintersect, prove that they intersect on

the circumcircle of the triangle 

W h Vid S l i

∠A

ABC

https://dl.doubtnut.com/l/_45RwOd8GsMXn
https://dl.doubtnut.com/l/_LsRzksVFtlaC
https://dl.doubtnut.com/l/_ykWO7hY9PJvf


Watch Video Solution

178. Let the vertex
of an angle ABC be located outside a circle and let

the sides of the angle
 intersect equal chords AD and CE with the

circle. Prove that 
is equal to half the difference of the
angles

subtended by the chords AC and DE at

Watch Video Solution

 ∠ABC

179. If 
 is a cyclic
 quadrilateral in which 
 . Prove

that 
oved.

Watch Video Solution

ABCD AD ∣ ∣ BC

∠B = ∠C

180. 
 are
 diameters of a circle with centre 
 If 


find 

Watch Video Solution

AB and CD O.

∠OBD = 50∘ , ∠AOC

https://dl.doubtnut.com/l/_ykWO7hY9PJvf
https://dl.doubtnut.com/l/_AC1NJdj8vEkq
https://dl.doubtnut.com/l/_HliOhMyYKQKn
https://dl.doubtnut.com/l/_pRTIQYhvRnrs


181. On a
semi-circle with 
as
diameter, a point 
is taken,
 so that 


Find 

Watch Video Solution

AB C

m (∠CAB) = 30∘ . m (∠ACB)and m(∠ABC)

182. In a cyclic
 quadrilateral ,
 if   

find the remaining angles.

Watch Video Solution

ABCD AB ∣∣ CD and ∠B = 70∘ ,

183. In a cyclic
quadrilateral 
, if .
Find 

Watch Video Solution

ABCD ∠A = 3∠C) ∠A

https://dl.doubtnut.com/l/_pRTIQYhvRnrs
https://dl.doubtnut.com/l/_GAA8wVOhw2dg
https://dl.doubtnut.com/l/_SnJdu8JKTMkc
https://dl.doubtnut.com/l/_jqi1FP699gYq


184. In Figure, 
 is the
 centre of the circle and 

Calculate
the values of 

Watch Video Solution

O ∠DAB = 500.

x and y

185. In Figure,
 if 
find 

Watch Video Solution

∠BAC = 600 and ∠BCA = 200, ∠ADC

186. In Figure,
 if 
 is an equilateral triangle. Find 

Watch Video Solution

ABC

∠BDC and ∠BEC

187. In Figure, 
is the centre of the circle. If 
find the

values of 

O ∠CEA = 300,

x,  y and z

https://dl.doubtnut.com/l/_imZTkxg9R76f
https://dl.doubtnut.com/l/_P2v5SnxMd1TS
https://dl.doubtnut.com/l/_8of6JHnEy1wi
https://dl.doubtnut.com/l/_sA06DOqwUVaR


Watch Video Solution

188. In Figure, 
 Find

the
value of 

Watch Video Solution

∠BAD = 780,  ∠DCF = x0and ∠DEF = y0.

x and y

189. In a cyclic
 quadrilateral 
 if 
 prove

that
the smaller of two is 

Watch Video Solution

ABCD, ∠A −  ∠C = 600,

600

190. In Figure, 
is a cyclic quadrilateral. Find the value of 

Watch Video Solution

ABCD x

https://dl.doubtnut.com/l/_sA06DOqwUVaR
https://dl.doubtnut.com/l/_OHmc0hKMnCgM
https://dl.doubtnut.com/l/_WJcAd74nu9tc
https://dl.doubtnut.com/l/_5rpzzG1fVChg


191. 
 is a cyclic
 quadrilateral in which:



 Find 


 Find 


find 

Watch Video Solution

ABCD

BCAD,  ∠ADC = 1100 and ∠BAC = 500. ∠DAC

∠DBC = 800 and ∠BAC = 400. ∠BCD

∠BCD = 1000and ∠ABD = 700 ∠ADB

192. Prove that
 the perpendicular bisectors of the sides of a cyclic

quadrilateral are
concurrent.

Watch Video Solution

193. Prove that
 the centre of the circle circumscribing the cyclic

rectangle 
is the point of intersection of its diagonals.

Watch Video Solution

ABCD

https://dl.doubtnut.com/l/_CiEez2C3FpYW
https://dl.doubtnut.com/l/_NRJVTl8c5t4G
https://dl.doubtnut.com/l/_8TGZRdr7Vyz2
https://dl.doubtnut.com/l/_c4QVva4pQLkU


194. Prove that the
 circle drawn with any side of a rhombus as

diameter, passes through the point
of intersection of its diagonals

Watch Video Solution

195. If the two
 sides of a pair of opposite sides of a cyclic

quadrilateral are equal, prove
that its diagonals are equal.

Watch Video Solution

196. 
 is a cyclic
 quadrilateral in which 
 when

produced meet in 
 Prove that:
 
 (ii) 

Watch Video Solution

ABCD BA and CD

E and EA = ED. ADBC

EB = EC

https://dl.doubtnut.com/l/_c4QVva4pQLkU
https://dl.doubtnut.com/l/_pLn3UVIBr9fv
https://dl.doubtnut.com/l/_8RB7rQLBNTLd


197. Prove that
 the angle in a segment greater than a semi-circle is

less than a right angle.

Watch Video Solution

198. 
 is a cyclic
 trapezium with 
 If 

determine other three angles of the trapezium.

Watch Video Solution

ABCD ADBC. ∠B = 700,

199. Prove that
 the line segment joining the mid-point of the

hypotenuse of a right triangle
 to its opposite vertex is half of the

hypotenuse.

Watch Video Solution

https://dl.doubtnut.com/l/_aeJa0VARkfwh
https://dl.doubtnut.com/l/_U3XXA2VoOr1b
https://dl.doubtnut.com/l/_q63IhkK1SVGw


200. 
 is a cyclic
 quadrilateral in which 
 are its

diagonals. If 
find 

Watch Video Solution

ABCD AC and BD

∠DBC = 550 and ∠BAC = 450, ∠BCD

201. In Figure,
 two circles intersect at 
 . The
 centre of the

smaller circle is 
 and it lies on the circumference of the larger

circle. If 
find 

Watch Video Solution

A and B

O

∠APB = 700, ∠ACB

202. In Figure,
 two congruent circles with centers 

intersect
at 
If 
then find 

Watch Video Solution

O and O'

A and B. ∠AO ′B = 500, ∠APB

https://dl.doubtnut.com/l/_KYCXUETpD1yP
https://dl.doubtnut.com/l/_B8Qk6UpLspfw
https://dl.doubtnut.com/l/_H3vXkcjTKfCo


203. 
 is a cyclic
 quadrilateral in which 

intersect
at 
then, find 

Watch Video Solution

ABCD

∠BAD = 750,  ∠ABD = 580and ∠ADC = 770,  AC and BD

P . ∠DPC

204. In Figure,
 if 
then find 

Watch Video Solution

∠AOB = 800and ∠ABC = 300, ∠CAO

205. If 
 is the
 circumcentre of 
 then find
 the value of 

Watch Video Solution

O ABC,

∠OBC +  ∠BAC

https://dl.doubtnut.com/l/_OmV9sgbHUcPW
https://dl.doubtnut.com/l/_ugLZue2fUrrz
https://dl.doubtnut.com/l/_fDaekmJdcDr0


206. If Figure, 
 is a
 diameter of the circle and are 

arc 
Find 

Watch Video Solution

AOC AXB =
1

2

BYC. ∠BOC

207. In Figure, 
is the centre of the circle. 
is a
parallelogram

and 
is a straight line. Find 

Watch Video Solution

A ABCD

CDE ∠BCD  :  ∠ABE.

208. In Figure, 
 is a
 diameter of the circle such that


find 

Watch Video Solution

AB

∠A = 350and ∠Q = 250, ∠PBR

https://dl.doubtnut.com/l/_Vts6pGNXdcHK
https://dl.doubtnut.com/l/_qDw3PFAisPua
https://dl.doubtnut.com/l/_hO37BUPN4LHt


209. In Figure, 
 are centres
 of two circles intersecting at 


is a straight line. Then, 

Watch Video Solution

P  and Q

B and C
.
ACD ∠BQD =

210. In Figure, 
 is
 quadrilateral inscribed in a circle with

centre 
 is produced
 to 
 such that 


Find 

Watch Video Solution

ABCD

O
.
CD E

∠ADE = 950and ∠OBA = 300. ∠OAC

211. If the
length of a chord of a circle is 16 cm and is at a distance of

15 cm from the
centre of the circle, then the radius of the circle is
15

cm     (b) 
16 cm          (c)  17 cm         (d) 
34 cm

Watch Video Solution

https://dl.doubtnut.com/l/_W5uevx6pkrWd
https://dl.doubtnut.com/l/_DrAlh3MgavT5
https://dl.doubtnut.com/l/_T9oILOFhqSiz
https://dl.doubtnut.com/l/_uz0KwQGLugPs


212. The radius
 of a circle is 6 cm. The perpendicular distance from

the centre of the circle
 to the chord which is 8 cm in length, is


(b) 
(c) 
(d) 

Let  be chord,  is the perpendicular distance.

In right 














Watch Video Solution

√5 cm 2√5 cm 2 √7 cm √7 cm

AB OL

△ OAL, OA2 = AL2 + OL2

(6)2 = (82)2 + OL2

AL = 12AB

36 = 16 + OL2

OL2 = 36 − 16 = 20

OL = √20 = √4 × 5 = 2√5cm

213. If O is the centre of a circle with radius r and AB is a chord of the

circle at a distance  from O, then 

Watch Video Solution

r

2
∠BAO =

https://dl.doubtnut.com/l/_uz0KwQGLugPs
https://dl.doubtnut.com/l/_x10ZObeZ53BC
https://dl.doubtnut.com/l/_SPHfBdkGQ9CQ


214. 
 is a cyclic
 quadrilateral such that 


 the 
 
 (b) 
 (c) 


(d) 

Watch Video Solution

ABCD

∠ADB = 300and ∠DCA = 800, ∠DAB = 700 1000

1250 1500

215. A chord of length 14cm is at a distance of 6 cm from the center

of the circle. The length of another chord at a distance of 2cm from

the center of the circle is
(a) 12cm (b)14cm (c)16cm (d)18cm

Watch Video Solution

216. One chord
 of a circle is known to be 10 cm. The radius of this

circle must be
5 cm                                                  (b)  greater than 5

cm
(c)
greater
than or equal to 5 cm           
(d)   less than 5 cm

Watch Video Solution

https://dl.doubtnut.com/l/_SPHfBdkGQ9CQ
https://dl.doubtnut.com/l/_IoImbB3cWZjd
https://dl.doubtnut.com/l/_IlVYpA83WRMU


217. 
 is a
 triangle with 
 as right
 angle, 


A circle is
drawn with 
as centre
and


as radius. The length of the chord of this circle passing through 


is
3 cm (b)
4 cm (c) 5 cm
(d) 6 cm


In right , 














Length of chord,

Watch Video Solution

ABC B

AC = 5 cm and AB = 4 cm. A

AC

C and B

△ ABC, ∠B = 900

AC = 5cm, AB = 4cm

BC 2 = AC 2 − AB2

52 − 42 = 25 − 16 = 9

BC 2 = 9, BC = 3cm

BC = 3cm

218. If 
 are equal
 chords of a circle with 
 as

centre
 and 
 diameter,
 then 
 
 (b) 
 (c) 
 (d)

none of these

Watch Video Solution

AB,  BC and CD O

AD ∠AOB = 600 900 1200

https://dl.doubtnut.com/l/_YqK8SyGemO3W
https://dl.doubtnut.com/l/_2DAphohM31mZ


219. Let 
 be the
 mid-point of an arc 
 of a circle
 such that 


 If the
 region bounded by the arc 
 and line

segment 
is denoted
by 
then the
centre 
of the
circle lies
 in

the
 interior of 
 (b) in the exterior of 
on the segment
 
 (d) on 


and bisects


Watch Video Solution

C AB

m ÂB = 1830. ACB

AB S, O

S S AB

AB AB

220. In a
 circle, the major arc is 3 times the minor arc. The

corresponding central
angles and the degree measures of two arcs

are
 
(b) 
 
(d) 

Watch Video Solution

90∘ and 270∘ 90∘ and 90∘ 270∘ and 90∘ 60∘ and 210∘

https://dl.doubtnut.com/l/_2DAphohM31mZ
https://dl.doubtnut.com/l/_38OhcnD7oA9z
https://dl.doubtnut.com/l/_ID2XfzoG6tDZ


221. If 
 are two
 points on a circle such that 


 A possible
 value for the angle subtended by arc 


at a point
on the circle is

(a) 
(b) 
(c) 
(d) 

View Text Solution

A and B

m (ÂB) = 260∘ .

BA

100∘ 75∘ 50∘ 25∘

222. An
equilateral triangle 
 is
 inscribed in a circle with centre 


The
measures of 
is
 
(b) 
(c) 
(d) 

Watch Video Solution

ABC

O. ∠BOC 30∘ 60∘ 90∘ 120∘

223. In a circle with centre  AB C D

A C 2A B sqrt(2)AB 1/2A B 1/(sqrt(2))\ A B`

Watch Video Solution

O, and

aretwodiametersperpendica––r → eachother. The ≤ n > hofch or d

is(a) (b) (c) (d)

https://dl.doubtnut.com/l/_Me5BBLdbpnZJ
https://dl.doubtnut.com/l/_UXaffmBkwkvr
https://dl.doubtnut.com/l/_fheof70K5PDl


224. Two equal
 circles of radius 
 intersect such that each passes

through the centre of the
other. The length of the common chord of

the circles is
 
 (b) 
 (c) 
 (d) Let the two circles

have their centres at 

Watch Video Solution

r

√r √2 r AB √3 r  r
√3

2

A and C.

225. If 
 is a chord
of a circle, and 
 are the two
 points on the

circle different from  and 
 then


 or

Watch Video Solution

AB P Q

A B, ∠APB =  ∠AQB

∠APB + ∠AQB = 180∘ ∠APB =  ∠AQB

226. If two
diameters of a circle intersect each other at right angles,

then
 quadrilateral formed by joining their end points is a

https://dl.doubtnut.com/l/_fheof70K5PDl
https://dl.doubtnut.com/l/_YoKsJlXKMLHE
https://dl.doubtnut.com/l/_wY6gXj6dfd3h
https://dl.doubtnut.com/l/_9H95PRCyrcse


rhombus        (b) rectangle   (c) parallelogram  (d) square

Let  be the diagonals of a circle such that 

Watch Video Solution

AB and  CD AB ⊥ CD

227. If 
 is an arc
of a circle and 
then the
ratio

of arc 
to
circumference is
1:4 (b)
3:4 (c) 3:8
(d) 1:2

Watch Video Solution

ABC ∠ABC = 135∘ ,

ÂBC

228. The chord
of a circle is equal to its radius. The angle subtended

by this chord at the
minor arc of the circle is
(a) 
(b) 
(c) 

(d) 

Watch Video Solution

60∘ 75∘ 120∘

150∘

https://dl.doubtnut.com/l/_9H95PRCyrcse
https://dl.doubtnut.com/l/_Wf6Nrlcu4yhR
https://dl.doubtnut.com/l/_UWBbQ2yK7E84


229. 
 is a cyclic
 quadrilateral such that 
 is a diameter of

the circle. If 
then 


(a) 
(b) 
(c) 
(d) 

Watch Video Solution

PQRS PR

∠QPR = 67∘ and ∠SPR = 72∘ , ∠QRS =

41∘ 23∘ 67∘ 18∘

230. If 
are three
points on a circle with centre 
such that 


and 
then 
 
(b) 
(c)


(d) 

Watch Video Solution

A, B, C O

∠AOB = 90∘ ∠BOC = 120∘ , ∠ABC = 60∘ 75∘

90∘ 135∘

231. 
 are two
 parallel chords of a circle with centre 

such that 
 The chords
 are on the

same side of the centre and the distance between them is 3 cm. The

radius of the circle is


W h Vid S l i

AB and CD O

AB = 6 cm and CD = 12 cm.

6 cm

https://dl.doubtnut.com/l/_IASvQTarZse1
https://dl.doubtnut.com/l/_smDn3rZpJrzZ
https://dl.doubtnut.com/l/_Mw2n4k7Kilw9


Watch Video Solution

232. In a circle
 of   radious 17
 cm, two parallel chords are drawn on

opposite side of a diameter. The
 distance between the chords is 23

cm. If the length of one chord is 16 cm,
 then the length of the other

is
34 cm        (b) 
15 cm       (c)  23 cm          (d) 
30 cm

Watch Video Solution

233. The
greatest chord of a circle is called its

(a)radius         (b) 
secant          (c)  diameter   
(d)  none of these

Watch Video Solution

234. Angle
 formed in minor segment of a circle is
 acute         (b) 

obtuse       (c)  right angle      (d) 
none of these

Watch Video Solution

https://dl.doubtnut.com/l/_Mw2n4k7Kilw9
https://dl.doubtnut.com/l/_gCD3DZjd1adx
https://dl.doubtnut.com/l/_h5xlXpoFum8I
https://dl.doubtnut.com/l/_FAKurOGyl39N


235. Number of
 circles that can be drawn through three non-

collinear points is
1         (b) 
0        (c)  2         
(d)  3

Watch Video Solution

https://dl.doubtnut.com/l/_FAKurOGyl39N
https://dl.doubtnut.com/l/_44m5CwvRtrRb

